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2020 &£ 10 B
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.009 0.004 &
LA i 1.512 0.000 - 0.352 0.069 =
/L4, (HCI) 4,545 0.039-0.176 0.130 =
mIbE (HF) 0.306 0.001 - 0.036 0.021 s
— &b (SO2) 15.147 0.051 - 4.055 2.140 =
—4& kbR (CO) 7.578 0.003 - 0.706 0.079 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.700 - 9.068 1.300 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.005 0.004 &
LA 0.756 0.009 - 0.127 0.069 =
#F/bE (HCI) 0.756 0.101 - 0.155 0.131 s
wAbE (HF) 0.072 0.016 - 0.026 0.021 s
— &b (SO2) 3.789 2.022 - 2.277 2.139 =
—&Ei% (CO) 3.789 0.037 - 0.139 0.078 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.915 - 2.242 1.310 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 107 <5.451 x 1010 =
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ERRAEEERE
2020 &£ 10 B
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.079 0.003 &
LA i 1.512 0.016 - 0.494 0.051 =
/L4, (HCI) 4,545 0.037 - 0.199 0.129 =
mIbE (HF) 0.306 0.005 - 0.056 0.025 s
— &b (SO2) 15.147 0.040 - 4.588 1.832 =
—4& kbR (CO) 7.578 0.001 - 0.921 0.054 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.642 - 7.265 1.203 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.021 0.003 &
LA 0.756 0.023 - 0.104 0.051 =
Z/LE (HCI) 0.756 0.081 - 0.170 0.129 s
wAbE (HF) 0.072 0.018 - 0.038 0.026 s
—&AbiR (SO2) 3.789 1.656 - 2.066 1.838 =
—&Ei% (CO) 3.789 0.015 - 0.143 0.056 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.892 - 1.776 1.213 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575x 10°° <5.827 x 1010 =
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2020 &£ 10 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.004 - 0.139 0.011 &
LA i 1.512 0.017 - 0.434 0.056 =
/L4, (HCI) 4.545 0.023 - 0.159 0.084 =
mIbE (HF) 0.306 0.006 - 0.049 0.023 =
— &b (SO2) 15.147 0.116 - 3.645 1.721 =
—4&bi% (CO) 7.578 0.010 - 0.115 0.063 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.361 - 8.905 0.844 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.009 - 0.018 0.011 &
LA 0.756 0.031 - 0.095 0.056 =
Z/LE (HCI) 0.756 0.052 - 0.128 0.083 s
wAbE (HF) 0.072 0.017 - 0.035 0.023 s
— &b (SO2) 3.789 1.495 - 1.874 1.721 =
—&Ei% (CO) 3.789 0.046 - 0.078 0.063 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.509 - 1.907 0.846 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 107 <5.367 x 1010 =
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